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2X, — X, +3%X; =4 2 -1 3
X +9%,-2X;=-8 > £ A=|1 9 -2]-
4%, —8X, +11%, =15 4 -8 11
OF A7 738 & (determinant of A) - (5 4 )
Ok A eF & AT (inverse of A) - (10 4 )
EFf2 (X1, X2, x3) (10 4 )
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s Fefzy"(t) +9y(t) =sin2t+5(t-1), y'(0)=1y(0)=0- £ ¥ y"(t)= ddi/(t)

(t)_M 8() 5 H i+ % =3 & (unit impulse function/Dirac delta
functlon) (15 %)
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e~ & S f() e < i 4 (Laplace transform) F(s) =
F(s) = j “ e ™ dt.

}0=|'5 {2500={ °Fis®

O F f(t) e < s 4 (Laplace transform) F(s) - (5 4 )
O g(t)snf < g4 (Laplace transform) G(s) » (5 4 )
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Cﬁ ° d2|—«/_1 > (20 4 )
C(z+i)(z+2i)

2o~ 2kl s i X s % B Sdic (probability density function)

fx(x):{ o,’ X2 0

i AR EY =(2X +1)° > KfE
(X e8p ¢ & (expected value) : E[X] > (5 4 )

OX* et et E[X2] (5 4)
@Y s % R Sl f(y) - (10 4 )



